
 

                                   



 

               

                      



 :                    

                                                                     

 .                                       

                         𝐼                             𝐴  .    



𝐼 =
∆𝑞

∆𝑡
 

 : ∆𝑞              (                             𝐶 ) 

 ∆𝑡               (     : s ) 

:𝐼              (                   A ) 
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𝐼 = 0.15𝑚𝐴 = 0.15 × 10−3𝐴 

∆𝑡 = 10𝑚𝑖𝑛 = 10 × 60 = 600𝑠 

∆q =? 

𝐼 =
∆𝑞

∆𝑡
⇒ 0.15 × 10−3 =

∆𝑞

600
⇒ ∆𝑞 = 0.15 × 10−3 × 600 = 90 × 10−3𝐶 
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         )                  (                                    
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                              𝑉                            

 𝑣  .        
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                       𝑅                            Ω .    
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𝑅 =
𝑉

𝐼
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𝑅 =
𝑉

𝐼
⇒ 5 =

10

𝐼
⇒ 𝐼 =

10 × 1

5
= 2𝐴 
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𝑈 = 𝑅𝐼2𝑡 =
𝑉2

𝑅
𝑡 = 𝑉𝐼𝑡 

 𝑈                                 : 𝐽  

  :𝑅                   Ω  

 :𝐼                               𝐴  

 :𝑉                                   𝑣  

  : 𝑡                   𝑠  
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𝑅 = 5Ω 

𝑉 = 40𝑣 

𝑡 = 2𝑚𝑖𝑛 = 2 × 60 = 120𝑠 

𝑈 =
𝑉2

𝑅
𝑡 =

402

5
× 120 =

1600

5
× 120 = 38400𝐽 
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𝑅 = 20Ω 

𝐼 = 3𝐴 

𝑡 = 5𝑚𝑖𝑛 = 5 × 60 = 300𝑠 

𝑈 = 𝑅𝐼2𝑡 = 5 × 32 × 300 = 54000𝐽 = 54𝐾𝐽 
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 :          

𝑃 =
𝑈

𝑡
= 𝑅𝐼2 =

𝑉2

𝑅
= 𝑉𝐼 

 :𝑃                       𝑤  



                          :    800𝑤  200𝑣              

                           200𝑣 .            
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   𝐼 =?    ( 

  𝑃 = 800𝑤 

𝑉 = 200𝑣 

𝑃 = 𝑉 × 𝐼 ⇒ 800 = 200 × 𝐼 ⇒ 𝐼 =
800

200
= 4𝐴 

𝑈 =?  ( 

𝑡 = 4 × 2 × 20 × 60 = 9600𝑠 

𝑃 =
𝑈

𝑡
⇒ 800 =

𝑈

9600
⇒ 𝑈 = 800 × 9600 = 7680000𝐽 
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𝑃 = 60𝑤 

𝑉 = 220𝑣 

𝑃 =
𝑉2

𝑅
⇒ 60 =

 220 2

𝑅
⇒ 60 =

48400

𝑅
⇒ 𝑅 =

48400

60
= 806.6Ω 

𝑉 = 110𝑣 

𝑃 =
𝑉2

𝑅
⇒ 𝑃 =

 110 2

806.6
= 15.001 ≈ 15𝑤 

 



             :    9𝑣   18w                                    

                                                       .           

     



 
 


